Honors Math 2
Review for Final #5

Solve the systems algebraically.
1. y=x2+18x+35
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Solve the following quadratic functions.
5. —4x% —7x = —3

Yx %9y -3 =0

6. x*+10x+18=0

X= 101 Jipo “4¢0019)
( X )= 0 YIS
X= =Tt Jua-qeay-3) Ko —tat (G5
a4 - ot
X= =14 Ja7 X="10% 2J7 X=-s5£J7
——— -
Use the discriminant to determine the number of real solutions.
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Factor the polynomial completely.
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Write a polynomial function of least degree that has rational coefficients, a leadi

and the given zeros.

ing coefficient of 1

17, ge=dasd
(X-B)(x-2)

SO X -ox i

18. x=3x= =2
2
(K =V )X 4 2)
™ 1
S\- LY\\,\T KOr2X- \‘_./;_/"‘,::(

\

EOON = % ey, % -

19. x=+5,x=—5 20, x=3ix=-3i

CETE) (%-31) %+ 2)
Dl & = XQWC‘“\'J‘_
X*-q(-1)

Rexyx “ + 9

21, x=24ix=2-1i

(X -2-1 Y x-2+1)
1 \
A =9 Sty

"X Y -2,
-~ 2] =%

+>
™
=<
i

1
>

~

i
~C
<
f\_:w

22. x=+7,x=~T
(X-vA)( X +VT)
% -7
F OO =X =T




Algebra 2

BLOCK 6 ASSESSMENT Student Copy

1. Find the domain and range of:

y = 2C08x

A) D: all real numbers
R:2<y<6
B) D: all real numbers
R: 2r<x<2r,
C)D: x2Z
3

-3<y<3

R:
@D: all real numbers
= R:-2<y<2

2. Find the domain and range of the sin
function graphed below:

@D all real numbers )
SR -2<y<?
C) D: x<Z*
2
Bi <84 <3
D) D: all real numbers
R:-1<y<3
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Determine which of these answers is the
correct graph of the function shown here.

flx) = -2sinB
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4. Determine which of these answers is the
correct equation for the graph shown here.
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(ADf(x) =1-2sin(3x+7) left T/
B) f(x)=1+2sin3(x-7) v gy Tl
C) f(x)=1-2cos3(x+7) \efl m
D) f(x)=1+2c:os(3x—7r) right /g

Based on the parent function f(x)=cos x
above, determine which of these answers
is the correct equation for the graph
shown here.
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6. Change this fraction to its degree measure.
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A) 550°
__B)-500°
C) 450°
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7. Change -220° to its radian measure.
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8. lftanf=-1,for n<B< 2r, find the exact
rele

value for 6.
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9. Ifsind=—,for0<8< % then o< ?
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10. Find tan@, given the point on the unit
circle pictured.
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11. Find cost, given the point on the unit
circle pictured. C 050, S c}}
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12. Find the value of the function shown here:
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13. Find the value of tan 53—2/3) &
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14. Find the value of cos[—ézj.
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16. Given the fesigth ofm:zéi, F=15,

find the area of the shaded sectorin ®B
using radian measure.
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17. Given m ADC =5?”, r=+/5, find the area

of the shaded sector in ® B using radian
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